1987 G FUEL SUPPLY SYSTEM

3-20



1. 3.107

3.107

3.107

3.107

3.110

3.107

3.900

2. 3.107

3. 3.028

4. 8.977

5. 12.945

6. 3.022

7. 8.917

8. 8.900

9. 3.022

10. 3.023
11. 3.023
12. 8.900
13. 3.163
14. 1.166
15. 8.948
16. 3.163
17. 8.964
18. 8.977
19. 8.962
8.962

20. 8.950
21. 3.163
22. 8.962
23. 3.162
24. 8.964
25. 8.950
26. 3.890
27. 3.890
28. 8.977
29. 3.163
30. 4.686
31. 4.686
4.686

32. 4.686
33. 8.950
34. 8.950
35. 4.686
36. 3.130
37. 8.977
38. 3.130
39. 8.950
40. 8.977
41. 3.130
42. 3.140
43. 3.130
44. 8.900
45. 8.915
46. 8.929
47. 3.900
48. 3.163
49. 3.904
50. 8.981
51. 8.900
52. 3.900
53. 3.904
54. 3.900
55. 2.483
56. 8.921
57. 3.602
58. 2.895
59. 3.022
60. 3.112
61. 3.130
62. 3.001
3.001

FIND

1987 G FUEL SUPPLY SYSTEM

SENDER , FUEL (TANK UNIT)(3 LINES)(231A, 307Y)(EXC U52)
SENDER , FUEL LVL (231A,307Y(W/U52).....
METER , FUEL (IN TANK)(3.8-7)(EXC U52)...
METER , FUEL (IN TANK)(3.8-7)(W/U52) ......
FILTER , FUEL (IN TANK)3.87) ...vvoeveeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeseeeeeee s
PULSATOR , FUEL SENDER (ACFP-25)(3.8-7)......ovveivveereeeeereeseeeesseeesseeeeeeeenrenn
PUMP , FUEL (3.8-7) cvveoveeoeveeeeeeeeeeeeeeeeee e
CAM , FUEL SENDER ......vvviveeoeeeeereeeeeeeerne,
CAP , W/O HANDLE FUEL TANK (GASOLENE)
SCREW , HWH (M6.3 X 1.69) ZC.....ovvvovveeereeoeeeeeeeeeeeeseeese.
DOOR , FUEL FILLER (P/N 14083879 FLIPS DOWN & LOCKS).
INSULATOR , FUEL TANK (BOTTOM OF FUEL TANK)(3.87)..r..veeoevveeeeeeerresnnnes
NUT , HEX TORQ PREV (M8-1.25) 10 CAD
BOLT, HFH (M8-1.25) POR.......ovvveevreernenn..
STRAP , FUEL TANK .ot
SPACER , FUEL TANK STRAP (U/BODY & STRAP)(3.8-7) ......
NUT , TYPE C, U-SHAPE (M10-1.5).......ovveorveeeeeremerereeseeeenes
BOLT, FLG HEX HD (M10-1.5 X 45)(10.9 POR)..
HOSE , FUEL PIPE RR .....oovvoovoeooeeeeoeeee.
CLAMP , WORM TYPE (.56” TO 1.06” DIA) ........ovvererrrerre.
CLAMP , WORM GEAR HEX SLOT SCREW (.250 X .625) SS..
HOSE , FUEL RTN PIPE RR ......coovoooveoeeeoeoeeeeee oo
TUBING , STL BRAKES ¥4 (RETURN) «.....eceoveeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeseeeseeeeeeenenes
SCREW , HWH TAP (M7.9 X 2.12) PC.....oooveoieeeeeeeeeeeee oo
HOSE , FUEL-OIL-EVAP (3/8 X 24)(FEED LD5)...
HOSE , FUEL & OIL (3/8 X 25)(FEED LC2)............
CLIP , CLOSED LOOP 10.5 DIA, DIA 18 HOLE ZP....
PIPE , FUEL FEED INTER (FEED RR TO FLTR)(3.8-7).
HOSE , FUEL-OIL-EVAP (1/4 X 24)(RETURN LD5)....
CLIP , (3 DIA CLOSED LOOP 1.68 TOT LEN STL)....vveeiveeeeeeeeieeeereeeeeeeseeesee.
TUBING , STL (3/8” OD X 25 FT)(LC2) rvv..eveeoveeoeeeoeeeeeeeeeeeeeeeeeee oo,
CLIP , DUAL CLAMP W/TANG 12 & 9MM TUBE ....
FILTER , FUEL (TYPE GF481)(3.8-7)...vvveeevveevreenn.
BRACKET , FUEL FILTER/TO FRM RAIL (3.8-7)....
SCREW , HEX W/FL WA TAP (M4.2 X 1.41) NIC....
PIPE , FUEL FEED FRT (FLTR TO ENG FEED).....
CLIP , RR BRK FRT PIPE (POS #19)
CLIP, RR BRK FRT PIPE (307Y)...........
CLIP , RR BRK FRT PIPE (#18 POS)(3.8-7, 231A).
CLIP , FRT BRK PIPE (307Y)....oveoooveoooeosoeeeeeennns
CLIP , CLSD W/LOC TANG/YELO/STL/.250 X .340..........erveeeoreeerereeeeeressresesr.
CLIP , (2-TUBE .190 X .380 DIA W/TANG)..........ovveeereeeereeeemreeeseeeeeseeseseeeeseeeesee
CLIP , RR BRK FRT PIPE (307Y)....coocovv.......

RETAINER , FUEL VPR CNSTR RET (307Y)
SCREW , SEMS HEX W/FL WA (M6.3 X 1.81) PZOR
RETAINER , FUEL VPR CNSTR (307Y) ...vvvoivveenn.
CLIP , PHOS oo
SCREW , SEMS HEX W/FL WA (M6.3 X 1.81) PZOR
CANISTER , FUEL VAPOR (307Y)(*1) cvvvcvveeoeeeoeeeeeeeeeeeeeeeeeee oo
SOLENOID , VPR CNSTR (3.8-7) ........

CANISTER , FUEL VPR (3.8-7)(*1)....
BOLT, HFH (5/16-18).......ccovvcrovveen...
NUT , HEX (5/16-24) ..............
WASHER , FLAT (5/16 X 5/8)
PUMP , FUEL (307Y)...vvooovooeveerv,
PIPE , FUEL PUMP TO CARB (307Y)..
GASKET , FUEL PUMP (307Y) ............
STUD , (5/16-18 X 5/16-24 X 1.25).....
BOLT , HEX (5/16-18 X 1.25) PC.....ooovvoooeoeoeeoeeeoeeeeeeeeeee oo
PUMP | FUEL (231A)..veeeveeeee oo eeeeeeeeeeeeeeeeeeeeeeeee e eee e
GASKET , FUEL PUMP (231A) .........
RELAY , FUEL PUMP (3.8-7) .vveooovoeoveeeoeeoeoeeeeeeee oo
BRACKET , MULTIUSE RLY (TO FENDER INR PNL)(3.8-7)
NUT , SPR STL SLR % DIA STUD ZC
SHIELD , EXH HT (3.8-7) covvvovveorvr.
SCREW , HSG CVR ... eee e
INSULATOR , FUEL TANK (BETWEEN F/TANK(3.8-7) cv...vvoeooveooeeeoeeeeeeeeeseosnes
SEAL , FUEL SDR (O-RING), FUEL METER (TANK UNIT)
CANISTER , FUEL VAPOR (307Y)(*1)
TANK , FUEL (67 LTR)(3.8-7) cvveoomvv......
TANK , FUEL (69 LTR)(231A,307Y) w..veoeveeoeeeeeeeeeeeeeeeee oo eeeeeeeseeeeeeeeeeenenes

NOTE 1: FILTER, CANISTER AIR INLET (4.5 DIA) PART #7026014 IN GROUP 3.130

3-21

25001613
25091100
25092745
25092748
25055458
25094266
25116164
22516548
22525300
11503648
22515463
25519978
11500760
11508301
557935
25518761
22531616
11508331
25517359
22518665
25518880
25517360
603827
11500086
9438373
9439238
22518924
25527397
9438257
558475
3750950
561308
25055052
25527398
11509374
25527396
22517833
10042838
15522163
1235756
478601
1235755
10042838
25526766
12337828
25526767
554665
12337828
17064622
25526954
17085935
9439898
451399
2436162
6471743
22506485
22505998
22506258
9430678
6472765
12337247
10038490
25518460
9420262
25501213
7830670
25519980
3893116
17064622
22523080
22510721



